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5Xi = x1 + x2 +
i=i

x3 + . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . + x”

ix. =

i=l '

x1 + x2 + x
3

$Xi = x1 + x2 + x3 + x4 + x

i=i
5

188

5x, = x3 + x4 + x
i=3 '

5
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4

Aildl~ 61  x1= 3,x2=  5,x3  = 7,x4=  4 i)~mFilzlaJ  xx.
iq 1

%il ?Xi  =
i=2

x2 + x2  + x
4

= 5+7+4

= 16

A&~ " 5,:0'7 x1= 3,x2=  5, xg  = 7,x4=  4, x5= 2 llm
i=l  '

iki11vi11n

y&jl;xt=  222;
i=l  ’ x~+x2+x3+x4+x

= 32 + 52+ 72+ 42+ 22

= g+25+49+16+4

= 103

II( ii;i]  = (X1  + X2  + X3 +.......m------DO+  Xa2

2

&JElfil~ ;;;
x1= 9, x2=

5,
x3

= 7 ,
x4=

4,
x5=

2 l&J ( 5X.
i=2 1

1 iFilLilbl

-4 e
aim (x2  + x3 + x412

= (5 + 7 + 4>2

= (16>2

= 256
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tax.=  atxi
i=l  ' i=i

4

w'?au'l~ 0'7 a ikilLyEliju  5 ttwxl= 2,x2=  5,x3  = 1,x4=  4 Iii47  C5xi
i=l

?&I i5XiZ  5iXi
i=i i=i

= 5 (x1  + x2 + x3  + x4>

= 5(2+5+1+4)

= 5 (12)

= 60

( icxi+Yi)  = ~xi+~Yi
i=i i=i

(ldaxua~y~lJi/LBU~ai?LL~'i)

hSld1~ tii x1= 2, x2= 5,x3  = 0 LLBZ  y,= 1, y,= 4,y,  = 2

MlWilUi)9 5(x. + YJ
i=l  '
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-4 e

XiVYl 5(x.  +  Y,)  = ix.  +  ?Y.
i=l ’ i=l ’ i=l ’

= (2 + 5 + 0) + (1 + 4 + 2)

= 7+7

LLB::  x tbuhtht&  e:b%l

5(axi  +b) = atx.  +  n b
i=i i=l ’

a’m.h 61 x1= 3, x2= 5, xg = 1, x4= 0 LLR:: a &hLh% 5, b

GilLyili%  12 Ll~~ilJMldl?J8J Ii(5 xi + 12)
i=i

‘j&j1  i(5xi+12)  = 5ix,+(4x12)
i=i i=l 1

= 5(3+5+1+0)+48

=  s(9)  +  48

= 45 + 48

= 93
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N =7
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x f fx

5 7 1 5 7

5 2 1 52

4 7 3 141

4 2 4 1 6 8

3 7 6 222

3 2 7 2 2 4

2 7 12 324

22 6 132

1 7 8 1 3 6

12 2 2 4

5-Ju cf = 50 = N cfk  = 1480

Cfx 1480
x =-= -= 29.60

N 50

MR  3 0 5 1 9 3



s;ii&U

iim5m& f x fx

13-15 1 14 14

lo- 12 4 11 44

7-9 2 8 16

4-6 6 5 30

l-3 3 2 6

Cf=l6=N cfx =llO

Cfx 110

x =cf= -=
6.88

116
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%kQlW (Mdn) = L +
N/2-F[ 1 i

f
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . (3)

au1aae9& f A?lUiB18U  (F)

40-44 1 28

35- 39 0 27

30-34 3 27

25 - 29 5 24

20- 24 3 19

15 - 19 10 16

lo- 14 1

5 - 9 1 5

o - 4 4 4

N = 28
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L = 14.5

N = 28

F = 6

f = 10

i = 5

N/2-F
MdIl = L+ [ 1 i

f

da L = 14.5

N = 28

F  =  1+1+4=6

f = 10

i = 5

llmJdl~~5

M&, = 14.5+ [ 1(28/2-6)  x5

10

1 4 - 6
= 14.5+ [ 1- x 5

10
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G-J6lfil~ ~~rn~uiitluuENcla~~u~~~“~“nsju~~cil~d

f3sLuu f

50 3

48 10

43 8

39 14

35 10

3 1 3

24 2

g1wihJ=39
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,.,.&d--C’ ,/A

RLLLUUW:7  (-> M e a n

Median

M o d e
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Q,--Q2
Q-D*  = 2.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (4)

w$hii.a$a~aCni?flu  8 m

12 16 19 23 24 28 30 33

Q, = 19

Q2 = 30

30-19
Q.D. = 2 = y = 5.5

s2 = c (x - g2
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (6)

N

MR 305 203



S2
= X(x -q2

N - l
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 47)

s2 = NE?  - @X2)

N ( N - 1 )
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (8)
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1lPsrrul~~u~u~m~  s2 =
c (x - q2

N - l

tk?+3ij  5 h&ii 19 18 16 15 12

%il(13

X X2

19 361

18 324

16 256

15 225

12 144

cX=80 xx2  = 1310

s2 =
NCX2  - (cX)2

N ( N - 1 )

5(1310) - (80)2=

(5X4)

= 7.5

%il(2)  Mli)lfl$015'  s2  =
c (x - T2)2

N - l
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gms (11)

(N > 30) Mlbhln
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s = X(x-q2 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (12)
N - l

n%l s =
J

NCX2  - (XX)'

N ( N - 1 )
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (13)

r =

d a x =

Y =

xx

y.  =

s, =

s, =

N. =

C[(X-ST)-(Y-Y)]

NS S
. . . . . . . . . . . . . . . . . . . . . . . . . . . . (14)

= Y
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&dl~ fWklUXlI%lldl  r blUb@~S  Pearson product moment correlation

coefficient LLi3VlJfW9)l5lJ

X Y x-x (X-X)2  y - y  (Y-y)2 (X-xxy-Y)

50 45 20 ' 400 16 256 320

49 50 19 361 21 441 399

30 25 0 0 -4 16 0

1 1 10 -19 361 -19 361 361

10 15 -20 400 -14 196 280

150 145 1522 1270 1360

cx = 150, CY = 145

x = 30, y = 29

G(X-X)2  = 1522,z(Y-y)2  = 1270

r
= C[(X-TT)--(Y-Y)]

NS S
x Y
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X Y &Jthuau  x a”u6uuau  Y D D2

50 45 1 2 - 1 1

49 50 2 1 1 1

30 2 5 3 3 0 0

11 10 ‘ 4 5 - 1 1

10 ‘1 5 5 4 1 1

CD’=4

6 CD2
P = l-

N(N2 - 1)

6 (4)= l-
5(52 - 1)

2 4
= I - -

120

= .80
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